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INSTRUCTIONS TO

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Answer all questions. Each question carries one mark. (40x1=40)
DR, T NI W00, TSSR0d BB 2.0 08.
1. Which of the following is not a function of commercial bank ?
a) Providing project finance
b) Selling mutual funds
c) Deciding policy rates like CRR and SLR
d) Settlement of payments on behalf of customers
BINT CIRJYT 0632, 239,08 FOODFTY, ?
a) odRewIN Ted WHNROTYT
b) FTHT QMY ST
c) CRR &2 SLR n¢o8 &35 B0 AgF0%008
d) 7, TFT TOTN TOWENTRY, TBERWT
2. The ability of Commercial Banks to increase their deposits by expanding their
loans and advances is known as

a) Capital expansion b) Credit expansion

c) Credit control d) Credit creation

WL, LI, OBONY T&E TG, rma , WO FOBD TNONE WFTE S éag;‘ﬁo@dagt '
D[IOT 2

a) WorEmY LITH b) o HZTE

C) O 00,69 d) Do ARRFD

#y

3. Where was the first bank in the country started at ?

a) Jaipur b) Mumbai c) Kolkata d) Pune
TTBTQ, 9, BRTO 13,08 TTITR0R ?
a) ¥To b) =002, C) B d I
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4. The three presidency banks were merged in 1921 with the establishment of
a) RBI b) SBI
c) UCO d) Imperial Bank of India
1921 S, Raetd BT 19, 0BONH QOETARLOT TTHCINT 233,08
a) RBI b) SBI
c) UCO d) 20e00D* ¢33,08° &° QORCIR

5. Which bank had taken over the Imperial Bank of India ?
a) Indian Bank b) SBI
c) RBI d) UCO

037033 239, 080 OO 1D, 0F° & QOBOINT TOWBFIASNNT ?
a) QOBODT* ), OF b) SBI
c) RBI d) UCO

6. As per RBI benchmark allocation of bank credit women beneficiaries should

receive at least % of bank credit.

a) 5 b) 10 g) 15 d) 1
o030 DRI’ L), 03 233,080 TV WITFD WNRTIWORT &,T2T Rk
FOOROYINED Yo ¥I,080 OB, Gale{ovelnld. o

a) 5 b) 10 e) 15 d) 1

7. What does the letter 'S’ denote in the term IFSC ?

a) Subscriber b) State c) System d) Source
0.0F°.%°. &. DG ‘7’ DI TSR ?
a) h‘u‘ﬁwwc‘ b) Xees c) ABIF d) Zneexts

SPACE FOR ROUGH WORK
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8. Replacement capacity in case of term loan proposals is judged by the banks |
with which of the following ratios ?

a) Debt-equity ratio b) Internal rate of return
c) Net present value d) Debt service coverage ratio

STHOD O B TR SOTOTRE TOWOT, FRTIY, 1) OBONED 3 FSNT oI
SROTIBNLOT eIFOW0ROBES ?

a) T B8 e EIROTZ b) ¢3030% €T WO

C) ATF TR0 SR, d) DO Bz w9, BOTIZ
9. is needed for developing a product in initial stages.

a) Seed capital b) Start up capital

c¢) Second round financing d) None of these

SToRT BB, WWIJT @@aﬁe}&g‘f BN, TNTORYT

a) R WoBTY b) m®,T0y3 woreY

C) QCTSe BT TEaTORO d) ARNYY, CINFTR &,

10. If the bank rate is increased and all other things being equal it will result in
a) A decline in the cost of credit
b) An increase in the cost of credit
c¢) No change in the cost of credit
d) Cost of credit has no relationship with demand for borrowing
B0 239, 080 WOBRY, Bedp BT RSN, RSOTINTY VBT TOFoD
a) TOT FET 28
b) OB IR Tei¥
C) TUT IBFY, VT WBIT AY,
d) ToT FER TOT WeRTNL FOWOFIE,

SPACE FOR ROUGH WORK
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11. Who is the first Governor of RBI ? '

a) K. A. Narasimhan b) V. K. Malhotra
c) A. K. Vadia d) A. B. A. Smith
RBI 3 3200 neIFof o3Rdd 2

a) 3. Q. IWOT* b) 2. 8. SRS,
C) 2. & TROD d) . Q. Q. 3T

12. A cheque is dated 27/01/2022, the due date is
a) 27/06/22 b) 28/02/2022 c) 27/03/2022 d) 7/01/2022
2,003 33 RO OTD0E 27/01/2022 3T NG DF0F
a) 27/06/22 b) 28/02/2022 c) 27/03/2022 d) 7/01/2022

13. Investment of banks in government securities and other approved securities
is categorized at

a) Lending b) SLR investment
c) Non-SLR investment d) None of the above
REFO Y5, Bneh TR 9T BROBRCOTLRT I BNYY, 239,030 THET
BRI, doerimy =
a) TOO JeRF b) SLR zn&d
¢) SLR 3»03T ook d) R0edT cRRTRe B

14. Loans to software industry upto a limit of Rs. are classified as priority
sector advances. #
a) 50 Lakhs b) 100 Lakhs ¢) 1000 Lakhs d) 500 Lakhs
802,08 0% AUy TR. $0803CN LT3 TOOD TIOT[OT TNE BOTVLT.
a) 50 ©Brisd b) 100 &8> ¢) 1000 ©87d  d) 500 BT

SPACE FOR ROUGH WORK
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15. A customer is required to maintain adequate balance in his/her accounts in

order to use his card in the merchant establishments.

a) Smart card b) Credit card

c) Add-on credit card d) Debit card

22 112, BB TORF Y, 39,300 RoFNTY WO TTR SOT 3
55930308, RROOTLIEBD.

a) MEFF TTF b) 3 & sor'r

C) ST -u* §QF T d) B BTF

16. Expand LAF.

a) Liquidity Adjustmént Facility b) Liquidity Account Facility

c) Liquidity Allotment Facility d) Long Adjustment Facility

LAF 8 938 aes

a) O3gks Tz oo FaOw b) O8f@es e5TP0Ls* FAEs

C) 3RS BeREFrRO0LT FAOEs d) woon® EX? =0 Hros
17. Which of the following bank is not wholly owned by the Government of India ?

a) RBI b) SBI

c) Punjab Bank d) None of these

FPNT IR 139,080 OTPREIF TN LT XFFTT QOI0Z,0059Y ?

a) RBI b) SBI

C) oeTe* €39, 05 d) aRNTE ARPTe 9,

18. Nationalisation of ImPeriaI Bank of India and its conversion into SBI was done
in which year ?

a) 1935 b) 1920 c) 1965 d) 1955
QOO 230, 0F° &5° ROBCINT m&aeﬁdsa R0B) /T SBI 0T WRRT WRF
a) 1935 b) 1920 'c) 1965 d) 1955

SPACE FOR ROUGH WORK
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19. Who decides how much quantity of the coins to be minted ?

a) Government of India b) RBI

c) SEBI d) Prime Minister
03TRTO TV, TIFRY, 308 TOBMEITS), VF T BRRTT ?

a) o038 XFF T b) RB!

c¢) SEBI d) I,5o8=008,

20. All Commercial Banks need to maintain cash, gold and bonds to provide -
credit to its customers with themselves is called '

a) SLR b) CRR c) Bank rate d) Repo

DO, TS, 139, 0BINED I T2, BBOT WO VB0 BRODTLIETIT [T, e T2

30,30 F2OIVIRWRTI) Q0T FBCDTINOZT.

a) SLR b) CRR C) ¥,08 o] d) ope
21. Which of the following is not a public sector bank in India ?

a) Andhra Bank b) Federal Bank

c) IDBI Bank d) Vijaya Bank

BRNTS, RO PoTITY, TOBF LT SOCIT 1, 0% Q. ?

a) ©0g, W, 0% b) FET* 23, 05°

c) IDBI w39,0%° d) Qe W, 0T

22. With which bank Syndicate Bank merged according to the recent August
2019 merger ?

a) Cooperation Bank b) Canara Bank

c) Vijaya Bank d) Andhra Bank

B3 ewdS A’ 20198 DT T 5o AORFEET 23,08 CIRT 1R, 03T
NOeIRROBT ?

a) TTPFECEBI* I, 08 b) 830e 239,080

C) WO LI, 0B d) ©03, 23,08

SPACE FOR ROUGH WORK



R0 A 0 A 9 CS -546

23. Loans of very small amount given to low income groups is called

a) Cash credit b) Micro credit

c¢) Simple overdraft d) No frills loan

TR BTOD JNFAN BRBON ©3,© T,RIEIT FONTL

a) INT Y b) B8R ¢ O

C) XY WRT W, T, d) dee e O
24. Who will settle the grievances of customers of Banks ?

a) RBI b) SBI

c) Local courts , d) Ombudsman

¥, 03 119, TFT RO BRTINTIY, 8T, FF WREIWHTO 0RO ?

a) RBI b) SBI

c) ﬁ@@eodo 39, 03ROCRNEL d) t.owm =T

25. What will be the impact on the cash reserves of commercial banks if RBI
conducts a sale of securities ?
-a) Increase b) Decrease
c) Remain constant d) Increase or decrease
00D DR 1), 080 IT,INE SRNTHWBI), BRATT 39632, 239, 0BONT INT
ETOT Boee DD TWOFRTONIZT ?

a) o3 b) avd
c) %dmﬁdagd d) HOF w0 VYT
26. What kind of an asset is goodwill as per the Indian accounting standards ?
a) Fictitious asset p b) Intangible asset
c) Current asset ' d) Fixed asset
YORODT* 5F0LON M 0BT T, FoT ORI B 308 TPV, T LTINS ?
a) 393 3= b) ex3F =2
L R N eJ S~
C) o9 d) A1 O &3

SPACE FOR ROUGH WORK
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27. One rupee note bears the signatures of
a) RBI Governor b) Prime Minister
c) Finance Minister d) Secretary, Ministry of Finance
20030 TRTOON BREITE Moo TIBIBRTO 03ITd ?
a) RBI n=zFo* b) =T os=008,
C) Ia%a%d 008, d) PODFWEF, TeITORO T

28. At what frequency can banks pay interest on savings bank account as per
RBI guidelines ?

a) Monthly b) Quarterly c) Half yearly d) Yearly

RBI 5 2T e33 S0edn odnas SWHODY, 239, 08N LVPTIOD ATINY e N

QeI 2

a) doned b) 8, =»a3 C) ©TFDoNFD d) So&Fs

29. Right to set off customers account can be exercised only by a

a) Creditors b) Debtors c) Banker d) Customer

No,BFCONY LT3N HFOD 53,3, T8O, AeBOTITO

a) TOOTIBT b) "aef)ricb c) 239, 080° d) =3I
30. The services rendered by a banker as an agent of his customers are called

a) Principal services b) Agency services

c) General utility services d) Social services

20) DO3RENTIIN 239, 080F ToTF wWATON Verdw Neﬁmfﬁo DV FTOLRMOIS 2

a) I)OO&:) BeSneh b) NON rat’ésﬁ%'b

C) mms &, 03Re%E FeIdnsd d) mm«aas ReWNE
31. Offshore VCs are promoted by and financial institutions.

a) Foreign banks * b) Private banks

c) State banks d) None of these

3B VC e Beazomd no:u; R &R c00T Vg erTe 3.

a) 2Ted R, 0B b) s 239, 0BONEL

C) To%, wI9,080MEL d) f&@ﬁ@@m IRRTR B8

SPACE FOR ROUGH WORK
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32. Venture capital firms are usually organised as

a) Closed-end mutual funds b) Limited partnerships

c) Corporations d) Non profit business

TOBR WOTRTP ﬁoﬁ@ﬁ% EDENEMENT) ao‘ﬁdm; RROBUVPTOTTS

a) VooWH-E&RS TOIT AEND b) Q02 semdE

C) ToTPpeF TSI d) ooy=en 8 @m0
33. Who is authorized to issue coins in India ?

a) RBI b) Ministry of Finance

c) SBI d) None of these

PTG, 90T BN TR, MYT, WM ewdwcd ciRdd ?

a) yIT8eod ORIF 239, 0B b) Te3FoR0 W0, 00D

C) T80 :’:Jees‘ 2, OF° d) aRPINe CSnRJTe e

34. With the recent merger of banks in August 2019 how many public sector
banks will be there in India ?

a) 12 b) 19 c) 20 d) 14
2deeds Bﬁ"ru'id 2019 D oBONT QOIT ToTT, WPTSTE, aa:‘% TRRFHRIT BT
masoiaﬁ@d:ga" ?

a) 12 b) 19 c) 20 d) 14

35. Which of the following is not an organised sector in India ?

a) Nationalised Banks b) Regional Rural Banks

c) Co-operative Banks: + d) Chits and money lenders
FINSYNYY, BRI LPTBEY, [,BAZ BOCDRE, ?

a) TvdueE e ¥, OBOMED b) 02,3688 119,80¢e0 239, 0BINEL
C) BTTO L3, 0BONED d) WL $B) Seasoriedrvod

SPACE FOR ROUGH WORK



CsS -
36.

546 12- L

In financial planning, higher most option price will lead to

a) Longer option period b) Smaller option period
c) Lesser price d) Higher price
TETAT 03RRFHNY, 88 NOF $03) IS BRNFESFS DR

a) HeTFFIY e:eai% oo b) wR= ©03 AT
c) 3B I d) 8,0

37. What happens if a crossed cheque is presented for payment ?

38.

39.

40.

a) It can be paid only through a banker

b) It cannot be paid at all

c) It can be paid in another bank

d) Anyone can draw the money

20T Jeef 59,7, W), WIS WITRATS DTN 2
a) I, 050" WRT, TTETLO W,

b) sZSTCROTTe @

C) 2eT 13, 05' T, TOTERWBOT)

d) o35dd Betomte B BB

In NEFT ‘E’ stands for

a) Electric b) Electronic c) Elevation d) Eligible

NEFT 8§ 'E’ T, ARUWRTT.

a) aci%s‘ b) ad@pa‘ C) QO[T d) odrwer

CRD is

a) Expenditure b) Cash c) Capital d) Accounting

CRD »owomn

a) ﬁzgd “ b) INT C) WOBRTY d) I
is India’s first original Bank.

a) PNB b) RBI c) SBI d) UCO
mﬁoﬁa RTBT JNRTL RO 239, 080,

a) PNB b) RBI c) SBI d) UCO

SPACE FOR ROUGH WORK
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Answer all questions. Each question carries two marks : (15x2=30)

DR TZNET) LU0, T, 3030070 T)F 1 TR L08R :
~ o - S

41,

42.

43.

44,

45.

Which is Government Bank ?
a) RBI b) SBI
AFFOT méoia SR ?

a) RBI b) SBI

Which is the largest commercial bank in India ?

a) Bank of India
c) SBI

c) HDFC d) ICICI
c) HDFC d) ICICI
b) Axis bank

d) HDFC

PRTBBY, 58 TRT T, 239,080 ORI ?

a) ,0%° ST QORAIR
c) SBI

When did the NABARD establish ?
a) July 1982 b) July 1969
NABARD o adcsnamo

(=] Q

a) =Y 1982 b) %%, 1969

State Bank of India is a
a) Public Sector Bank
¢) Joint Sector Bank

:J:j €837 239, 03¢ & QORAIT 2,000
a) TOWFEIT DODT 239, 08O
C) WOk TOCIT eI, 0%

RTGs is managed by

a) SBI #
c) State Government

RTG n¥s) ITF o SRrEPmd
a) SBI

C) To%, TEFT

b) &3x* o 08°
d) HDFC

c) June 1951 d) June 1961

c) AT 1951  d) we® 1961

b) Private Sector Bank
d) Non-nationalised Bank

b) s39%N [T 239,08
d) o83, 3RQT 0,08

b) RBI
d) Central Government

b) RBI
d) 3eoq, X5 T

SPACE FOR ROUGH WORK
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48.

49.

50.
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SEBIl is

a) Regulatory Authority
c) Both a) and b)

30 (SEBI) w0t

a) RS, T, PTT
c) a) FB) b) KTER

Banks does not provide loans for
a) Crop loans
c) Home loans

AN OBONED fadi? T BREIRDL,
a) 23@3 IO
C) M,® TV

Bank does not give loan against
a) Gold ornaments
c) Lottery ticket

AT R

b) Statutory Authority
d) None of these

b) mﬁﬁud 9,(%0
d) RN, m@m Q)

b) Education loans
d) Gambling

b) éfisa LDl
d) e

b) LIC Policy
d) NSC

232, 0BOTED |TT 508 B0 TONTRY T,

a) zams $20ENS0
c) tnaéaa 3%

100 Rupee note is signed by
a) Prime Minister
c) RBI Governor

b) LIC o0
d) NSC

b) Finance Minister
d) Chief Minister

100 BRTDOW 3@6&35 Foee3 03T B AT ?

c) RBI ﬁmﬁrrf

Bank passbook issued by
a) Banks
¢) Both a) and b)

¢30,0%° TOR® TYBTDIY BRBODTTO
a) msosoﬁ@do
c) a) &2 b) ATER

b) TLITORO TO0E,
d) Sa,:=o0d,

b) Indegenous banker
d) None of the above

~ b) Tedeodd 239, 08TTO

d) S0eOT BRJTR B,

SPACE FOR ROUGH WORK
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51.

52,

53.

54.

55.

Bank pays interest on

a) Deposits b) Loans

c) Both a) and b) d) None of the above

233, 0BOMEL VTT Boed WRNIIY DRRIT.

a) Sewmedned b) mensd

c) a) R b) *TER d) S0eOT cIRPTe B

Expand PAN.

a) Primary Account Number b) Permanent Account Number
c) Both a) and b) d) None of the above

PAN 2% 3 8o |

a) 5,00 B8R0 Fowo’ b) =gSoes* e Sowo®

C) a) A b) HTREB d) R0eDT cIRRTR B

Bank provides loan.

a) Home b) Car c) Education d) All of the above
23, 080 RO QERTT.

a) n= b) o c) éﬁh £ d) 0O 20Fp
Which type of deposits earns higher interest rate ?

a) Current account b) Savings account

c) Fixed deposits d) None of the above

C30E3 BEBEINEL eI 2B, TONTR nexZes ?

a) w9 8 b) evezecd 503

C) QOFH Fes3ed d) 0T cRPTR B
Maximum tenure of fixed ‘deposit is

a) 5 Years b) 7 Years c) 8 Years d) 10 Years
30 BeIeIo now &=k @"‘ww ?

a) 5 T/ b) 7 &=Fnisd c) 8 [J/Fisd d) 10 SR

SPACE FOR ROUGH WORK



